

SEPTEMBER 21, 2022 HEARINGS

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs

COLBY TYLER ROBERTS, D/B/A DIAMOND STATE HOME BUILDERS, LLC ORDER

The Committee voted unanimously that COLBY TYLER ROBERTS, d/b/a DIAMOND STATE HOME BUILDERS, LLC shall pay a civil penalty of \$400 per day for 41 days of activity for a total of \$16,400 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against COLBY TYLER ROBERTS, d/b/a DIAMOND STATE HOME BUILDERS, LLC to prevent them from performing work in violation. COLBY TYLER ROBERTS, d/b/a DIAMOND STATE HOME BUILDERS, LLC shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs

KYLE DEWALD, D/B/A E & K HANDYMAN SERVICES

ORDER

The Committee voted unanimously that KYLE DEWALD, d/b/a E & K HANDYMAN SERVICES shall pay a civil penalty of \$400.00 per day for 13 days of activity for a total of \$5,200 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against KYLE DEWALD, d/b/a E & K HANDYMAN SERVICES to prevent them from performing work in violation. KYLE DEWALD, d/b/a E & K HANDYMAN SERVICES shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs

ALDERSON NWA HANDY SOLUTIONS LLC

ORDER

The Committee voted unanimously that ALDERSON NWA HANDY SOLUTIONS LLC shall pay a civil penalty of \$400.00 per day for 5 days of activity for a total of \$2,000 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against ALDERSON NWA HANDY SOLUTIONS LLC to prevent them from performing work in violation. ALDERSON NWA HANDY SOLUTIONS LLC shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs

NATURAL STATE RENOVATIONS, LLC

ORDER

The Committee voted unanimously that NATURAL STATE RENOVATIONS, LLC shall pay a civil penalty of \$400.00 per day for 60 days of activity for a total of \$24,000 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against NATURAL STATE RENOVATIONS, LLC to prevent them from performing work in violation. NATURAL STATE RENOVATIONS, LLC shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs

THOMAS BLACK

ORDER

The Committee voted unanimously that the license of THOMAS BLACK is revoked for misconduct. The Committee further ordered that a cease and desist order be issued against THOMAS BLACK to prevent them from performing work in violation. THOMAS BLACK shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs

CHARLES TURNEY, D/B/A C & T REMODELING

ORDER

The Committee voted unanimously that CHARLES TURNEY, d/b/a C & T REMODELING shall pay a civil penalty of \$400.00 per day for 4 days of activity for a total of \$1,600 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued against CHARLES TURNEY, d/b/a C & T REMODELING to prevent them from performing work in violation. CHARLES TURNEY, d/b/a C & T REMODELING shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

vs

JOHN W. GRIFFIN

ORDER

The Committee voted unanimously that the license of JOHN W. GRIFFIN is revoked for misconduct. The Committee further ordered that a cease and desist order be issued against JOHN W. GRIFFIN to prevent them from performing work in violation. JOHN W. GRIFFIN shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

SETTLEMENT AGREEMENTS

40859 TED LIMON AND ABE LIMON DBA - CARPET DESIGN CENTER LLC
\$3,200.00 reduced to \$200.00 if no further violations for 3 years, pay any judgment, pay homeowner as agreed

48496 WATER DESIGNS VINYL LLC \$70,000.00 reduced to \$2,000.00 if no further violations for 3 years, pay any judgment, must repair pool as agreed with homeowner, pay penalty as agreed

24923 CARL WILLIAMS \$2,000.00 reduced to \$100.00 if no further violations for 3 years and he pay this penalty as agreed

47732 CHRIS WITHERS DBA - CHRIS WITHERS CONSTRUCTION \$5,000.00